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1.	Introduction
As discussed in prerequisite discussion R5-242427.
This paper is aiming to provide the simulation results for TC 8.3.1.1.1. 
[bookmark: OLE_LINK53]2. 	Discussion
The simulation assumption and steps are shown below,
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1.	Run the PDSCH simulations for an extended period of time at the SNR of interest for multiple seeds.
2.	The minimum test time is determined by the time it took the throughput curve to settle within +/- 2% of the target throughput value across all seeds. 
3. 	If the throughput does not settle within the +/- 2% throughput limit within a reasonable amount of time for any seed, expand the threshold to +/- 3.5% of the target throughput value.
4.	To account for the additional 1.5% throughput variation, determine from the Throughput vs SNR curve, what is the SNR delta corresponding to this 1.5 % throughput increase.
5.	That SNR value is the added SNR uncertainty due to finite test time.
30 random seeds are used in this simulation, Fig.1 and Fig.2 shows the results. Several pair of Tput corridor were added in these Fig. Red, green, purple and grey line are represented 2%, 3.5%, 5% and 10% limit around 70% max Tput.
Additionally, considering the long test time of current NB IoT NTN test cases. The simulation of 8.3.1.1.2 are rerun to get a reasonable test time.

[image: ]Fig.1 Simulation results for 8.3.1.1.1 test 1
[image: ]Fig.2 Simulation results for 8.3.1.1.1 test 2
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Fig.3 Simulation results for 8.3.1.1.2 test 1
Then the convergence time within different corridor is summarised in Table.1. 

Table.1 Convergence time for test 1 and test 2cases
	Convergence time(SFs)
	Tput 70%: +/-2%
	Tput 70%: +/-3.5%
	Tput 70%: +/-5%
	Tput 70%: +/-10%

	8.3.1.1.1 Case1 TDLC5-200 NGSO
	TBDN/A
	TBDN/A
	TBD107
	TBD31

	8.3.1.1.1 Case2 TDLA100-10 NGSO
	TBDN/A
	TBDN/A
	TBD388
	TBD200

	8.3.1.1.2 Case1 EPA5 NGSO 
	N/A
	99
	61
	24



To be noticed, current simulation was running under 0.013ppm doppler shift according to the ephemeris in 36.508.The simulation is run under 0.113ppm doppler shift (0.013 doppler shift for NGSO according to the ephemeris in 36.508 and 0.1 ppm max residual doppler according to RAN4 requirement)
The MNAS is calculated based on the configuration of NPDSCH,
Table.2 MNAS for test cases under NGSO condition
	MNAS
	Tput 70%: +/-2%
	Tput 70%: +/-3.5%
	Tput 70%: +/-5%
	Tput 70%: +/-10%

	8.3.1.1.1 Case1 TDLC5-200
	N/A
	N/A
	669 (107000/32/4)
	243

	8.3.1.1.1 Case2 TDLA100-10
	N/A
	N/A
	758 (388000/128/4)
	391

	8.3.1.1.2 Case1 EPA5
	N/A
	774 (99000/32/4)
	477
	188



Considering the large test time in current NTN IODT, it’s better to use less MNAS and add SNR uncertainty for these test cases due to finite test time.
Another 0.1ppm residual doppler shift should also be added based on the RAN4 requirements. The simulation results will be updated after the simulation finished.
Proposal 1: Use xxx 669 as the convergence time MNAS for TC 8.3.1.1.1 Test 1 and xxx 758 for Test 2 in 36.521-4. Add SNR uncertainty due to finite test time.
3. 	Conclusion
This paper is aiming to provide the simulation results for TC 8.3.1.1.1. 
The following observations and proposals are made:
Proposal 1: Use 669 as the MNAS for TC 8.3.1.1.1 Test 1 and 477 for Test 2 in 36.521-4. Add SNR uncertainty due to finite test time.
Proposal 1: Use xxx as the convergence time for TC 8.3.1.1.1 Test 1 and xxx for Test 2 in 36.521-4.
The associated CRs is R5-242422.
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